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(Answer the following questions)

1 Choose the correct answer (writing details (viii) and (ix) only) | [11 Marks]
(1) The differential equation xy’ —y = x? cos x is

(a) Linear (b) Bernoulli (c) Recati
() | The differential equation y’ = In (5) +2is

(a) Separable (b) Homogenous (c) Exact
(i) |TheD.E. y" =2y"+y =0, y(0) =5,y'(0) = 10 is called

(@) Initial - value problem (b) Boundary - value problem
(iv) | A particular solution y, of y" —2y" +y =e*is

(a) yp, = Ae* (b) v, = Axe* (c) yp, = Ax?e*
Vv t
V) {’{f sinrdr} = 25

0 s+ 1

(a) true (b) false
(Vi) | €{f x g} = {f (O} {g9(®)}

(@) true (b) false
(vii) o103 B d3 F

{t"f®O}= Q)

(@) true (b) false
(viii) | The function f(t) = t~2 is not piecewise continuous

(a) true (b) false
(ix) s°

The function F(s) = =2

piecewise continuous and of exponential order
(@) true (b) false

Is not the Laplace transform of a function that is




2 Solve the differential equation: [4 Marks]

xy' — 4y = x°e*



3  Solve the differential equation: [4 Marks]

y"+3y"'+ 2y = cose*



4

Solve

dx
E+2x—4y——4t—2,

dy
— — 2x = 4¢;
ac

x(0) = -5

y(0) =4

[6 Marks]



5 Use the Laplace transform to solve the I\VP: [5 Marks]

y" —y'=etcosht, y(0)=20,y'(0)=0



6(a) Evaluate: [6 Marks]

] 2s+5 S -7s
i -1 HH -1 —
M ¢ {52—25+10} (i ¢ {52+9ez}




6(b) Solve f(t) =3t2 —e~t — [, f(v)etdr for f(£). ~ [AMarks]



